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BEFORE USE

e Do not press too hard against the LCD panel because it contains glass.

¢ Never dispose of battery in fire.

e Keep battery out of reach of children.

® Press on if you see no indication.

e While "G" symbol appears on the display, if you set the Grand Total (GT) /
Answer Check / Rounding off (5/4) switch to "ANSWER CHECK" and press any
keys, the "G" symbol will disappear and the GT memory contents will be cleared.

e This product specifications, including accessories, may change due to
upgrading without prior notice.

SPECIFICATIONS

Type: Electronic calculator

Operating capacity: 12 digits

Power supply: Built-in solar cell and Alkaline manganese battery
(1.5V = (DC) LR44 or equivalentx 1)

Automatic Power-off: ~ Approx. 7 min.

Operating temperature: 0°C—-40°C (32°F-104°F)

Dimensions: 108mm(W) x175mm(D)x22mm(H)
4-1/4"(W)x6-7/8"(D)x 7/8"(H)
Weight: Approx.165g(0.36 Ib.) (battery included)

Accessories: Alkaline manganese battery (installed),

Operation manual

TILT DISPLAY

OPERATIONS

1. Before starting calculations, press to clear (zero-clear).

2. The position of any switch that is not specifically designated, may be set
to any position.

3.When performing multiple conversion calculations, verify the rate

indicator (" " ", " °™% " or " ®§ ") on the display. The conversion rate
can be set/changed for each indicated rate, and that rate will be
used for conversion calculations. To switch the rate, press key.

4. For expressing calculation examples, only the symbols that are required
for explanation are mentioned.

5. Example procedures are listed in the following manner unless otherwise
specified.

(1) Example ‘ (2) Key operations ‘ (3) Display
\ \
DECIMAL POINT ASSIGNMENT SWITCH
¢ "F" position: Set the decimal point to "floating" point. F320A
*"3,2,0" positions: The decimal figures can be set to the 0 )

respective numbers.

e "A" position: Assigns Adding mode (sets the decimal at 2). In the case of
addition/subtraction, the decimal point will be placed at 2 automatically. If [« ] is
registered, or in case of non-additive/non-subtractive calculation, this function will
not be applicable.

GRAND TOTAL(GT)/ANSWER CHECK/ROUNDING OFF(5/4) SWITCH

* "GT" position: Select this position to get the grand  GT——  —ANSWER CHECK
total amount out of subtotals (the values obtained 5/4 ¥ 5/4
when[=]or(% Jis pressed). The subtotals will
automatically be added to the Grand Total memory.

¢ "ANSWER CHECK" position: Set the switch to this position for normal calculations
when a calculation result needs to be compared with another.

"5/4" and "¥" specify ways to handle fractions below the decimal places assigned by

Decimal Point Assignment switch.

® "5/4" position : For rounding fractions.

o "§" position:  For discarding fractions.

* The fractions beyond the display limit will be discarded if the Decimal Point Assignment switch is set to “F” position, or in
case of intermediate calculation results which the decimal point is not fixed.

RESUME FUNCTION

e This calculator is equipped with a Resume Function to restore the calculator's
status prior to the Auto Power Off*; simply press the @ key to continue.

* A function to save battery power that shuts off the calculator's power automatically when no key input has been
detected for about 7 minutes (depending on operation conditions, the actual duration may vary for minutes).

Example:
RESUME

- PIsE
?

Auto Power Off

€ANSWER CHECK (COMPARISON)

1. If the answer obtained with (=] or agrees with the succeeding
tested result, “OK” will be displayed.

2. Pressing [CA] will clear the previous calculated result, disabling the
comparison.

3. The Answer Check will not be performed on values obtained by
memory calculations, or values obtained in the middle of calculations.

4. This Answer Check will not function for tax calculation and multiple
conversions.

(1) 120X 3652+670—258=438652

(2) (3)
Sl $ 5la” U
B S
120 I'El’}x
7:3;3:5727 77777777777777777 q 38?'-’{"4_ e First calculation
A LS
258 (=]

77777777777777777777777777777777777777 ® Second calculation

(1) Confirming the tax

rate. (0%)

(1) Set 5% tax rate.

Calculate the tax
rate on $800 and
calculate the total
including tax.

(2) (3)
B
RECALL %
™ u

(2) (8)
F320A H
5
. ™ 5%
nn
800 Uy,

(1) Perform 2

)

calculations using
$840 and $525, both
of which already

840 [+] 525
=)

include tax. Obtain
the sum, sum
excluding tax,

-TAX

and the amount
of tax (tax rate: 5%).

TAX

* or (=]

ENTER

4HOW TO PERFORM BASIC CALCULATIONS

120 0N
3652 ‘{ 383 | (1) @ @)
670 E . F320A 0.
258 (=] l_’}BBgeoK . (-24+2)+4=-55 E24[F234E=) -5.5
= . 13X (—4)+2=-26 13[X] 43[=] 2(=] —-26.
* "OK" is displayed when agreed with the previous calculated result. 34+57=91 34H57=) 91.
(Not displayed if disagreed) 45+57=102 45 = 102.
38-26=12 38(=126(=] 12.
4&HOW TO PERFORM MULTIPLE CONVERSION 35-26-9 35 = 9.
e |n order to perform multiple conversion, the conversion rates will need to 68&#1700 68 [X]25=) 1'700.
be verified and set (the initial conversion rate is set to 0). g _ ,
. ) . 68x40=2720 40(=] 2'720.
e The conversion rate figure can be set or changed up to 6 (not counting :
the decimal point itself). 35:14=2.5 35[=]14[=] 25
o Also, by utilizing the key, 3 different 98+-14=7 98 = 7.
conversion rates can be set. L JOONY con‘% — CONY 200x10%=20 200310 (%] 20.
e The set conversion rates will be ! t 3 (9+36)x100=25(%) 9[=]36 (%] 25.
retained unless changed manually. The low ﬁ CONV H 200+(200x10%)=220 | 200(+]10 220.
battery power state may alter the set rates. 12:8 45— (497=4096 I XEEXE 4096
(1) Set the conversion 2) (3) 1/8=0.125 8 =I[=] 0.125
rate (CSE1 =¥123.45) coNy n 25% 5=125 oM [Eom 25 5 M) 125M
u CONV
for™ = ™. ' u —)84+ 3= 28 84 =] 3] 28m
SET +)68+17= 85 68 (+]17 85M
CONV
12345 | A<y ,'B 3'{5 182 RO 182
. - 2+3-2+4=6 2136 4 (=) 6.
(1) Verify the conversion 2) (3) 5x2—-5+2=25 5(X)[=] 2(=] 25
rate ($1 = ¥123.45) GoNv ( 987654320988+0.444 | 987654320988 (=]0.444(X] £2.22444666889
n CONV 1 [
for™ =5 " ,E 3"’5 X555=1234.56790123x10% | ESE555(=) 1'234.56790123
12—
(1) Convert $120 to yen ) B) (1234.5279012AN3S;;1CH(ZCK 1234567901230000)
(when n °°N‘:‘ n F320A CONV n F320A  skdsh
. . ]
conversion rate is set u 235 +423 = 658 23.5[F42.3 (=) 65.80¢
to $1 =¥123.45). 120 %c:‘m:’ | (| ( 724-37.321+12 = 4708 | 72.4(=])37.321 12(=) 47.08¢
,'{H ]"i +H2r 19 -2161=-1361 | 27 (=19 [=) 21.61(=) -13.61¢
G
(1) Set the conversion (2) (3) 99.27 OA 99.27
rate (1 meter = o cony n 1$45¢ f2204 145 1.45
39.3701 inches) for ¢ U 45800¢ 4500 (=) 46.45
D e - —7$63¢ 763 (= 38.82
2 ",and convert [ ser CONV
472.4412 inches to 39.3701 | A<z Jgjﬂﬂ (B 38$82¢
meters. ! i
ooy B BATTERY REPLACEMENT
Teony T -
472.4412 - ,le
= or (=]
ENTER
@®CALCULATING TAX

e To perform a tax calculation, first it is absolutely necessary to set and
check the tax rate. (The initial tax rate is 0.)

* A tax rate can be set (or changed) with a number containing up to 4
digits. (Decimal point is not regarded as a digit.)

® The set tax rate is retained until it is changed. However, the set tax rate
may be changed or lost if the battery is consumed largely.
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(1) 120x3652+670—258=438652 . ™ 5/
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(2) (3) 800 Ul
F320A
GT—— _—ANSWERCHECK n
5/4 ¥ 5/4
u
120 ,’ {,'x
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, (1) *1$840F1$525i% (2 (3)
} et B S BawE | B2 koglece ’
3652 N leg—x SEONG f
= Y8240, - RGN, i | 89005 ses | _ 1165
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T Jox (—24+2)~4=—-55 (S124(H2[F4 =) -5.5
258 (=) - "HHEBE ' 13x(—4)+2=—26 13(x) 4653(=) 2(=] —26.
34+57=91 34[H57 =] 91.
* ST £ FAR I I B R COK”, (g AR, R B, ) 45+57=102 45 = 102.
38—26=12 38 (=126(= 12.
. N 35—26=9 35 = 9.
SufTiteTE EILRIGE ) 68x25=1700 68 X125 =) 1'700.
o N AT I A, FH BRI R ATAZ AR (LR % T0) 68x40=2720 40=) 2'720.
o LB AT T SR 26 (AL INIURA B ) o 35+14=25 35(=14[=] 2.5
o [, i3 fE i, Al 3 il 98+14=7 98 = 7.
RRMIC R, Y 9y 200x10%=20 2003310 20.
_ NN N 1-2:3 De
o AT R EA, BOERRILE | oow oo o oo (9+36)x100=25(%) 9[=136 %) 25
W B DAL R 2 i A B P i 4 3 200+(200x10%)=220 | 200C£110 220.
E B AL, it Ny ] 4°=(4%°=4096 4 XEEXE 4°096.
1/8=0.125 8 [H=] 0.125

(1) XHF o 7, Hugs (2 3 25X 5=125 oM M) 25 [X] 5 ) 125M
R a’ﬁ (176 =| lccd ooy n )84+ 3= 28 84 =) 3 28M
123.45 HJo). u +)68+17= 85 68 [F117 85M

SET 182 182M
123.45 | &&Y

. At ,'83'-’5 2+3-2+4=6 271364 (=) 6.

(Al . 5x25+2=25 5X)=] 2(=) 25

(1) A A ™ 7R ) 3) 987654320988+0.444 | 987654320988(=10.444(X]  |£2.22444666889
"”H’Jfﬁm 155 = Q0 f X555=1234.56790123x102 | [ECE555(=) 1'234.56790123
123.45H70), le 3"’5 (1234.56790123x 10"2=1234567901230000)
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123.45 A JTH) Y o 1 H27 19 -2161=-1361 | 27 [=)19 (=] 21.61(= -13.61¢
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